

NEW TOWN KOLKATA DEVELOPMENT AUTHORITY

(A Statutory Authority Under Government of West Bengal) 3, Major Arterial Road, New Town, Kolkata - 700 156

Memo No. 3009 / AE-VII/EE-II/NKDA/2018-19

Dated: 25.06.2018

N.I.T. NO.: 01/AE-VII/EE-II/NKDA of 2018-19

NOTICE FOR INVITING TENDER

Sealed Tenders are invited by the Assistant Engineer-VII, New Town Kolkata Development Authority from resourceful, bonafide and experienced contractors having proven experience in execution of particular similar nature of works in different government departments and working contractors of WBHIDCO having valid necessary credential for such works as stated as below Annexure.

Name of Work

: As per Annexure

Last date of application : 03.07.2018 up to 15.00 hrs.

Last date of permission : 03.07.2018 up to 15.00 hrs.

Last date of purchase : 05.07.2018 up to 15.00 hrs.

Date of Submission : 05.07.2018 up to 15.00 hrs.

Date of opening : 05.07.2018 after 15.00 hrs.

General Terms & Condition

- 1. The intending tenderer will have to get the permission from the undersigned for getting the tender papers within the stipulated time against application with proven experience for completion of similar nature of work and on production of completion certificate. Completion/Payment certificate should clearly indicate the description of works, value of contract, executed work value, date of award, actual date of completion etc. and name, address and telephone number of the client. Xerox copies of valid certificates of Trade License, VAT, Permanent Account Number (PAN) of Income Tax Department, Professional Tax clearance from the concerned Dept, will have to be produced along with the originals. The originals will be refunded after verification. Tender form and other documents will be issued to the contractors from this office on all working days between 11 a.m and 4.00 p.m on production of the aforesaid documents up to the scheduled date.
- Copy of address (address for correspondence) proof certificate by any govt. department, local authority, MLA, councilor of the area will have to be submitted along with the application. Originals will be returned after verification.
- The undersigned reserves the right to refuse permission to issue tender papers without assigning any reason what so ever and no challenge against such refusal will be entertained. The contractor will also not be entitled for any compensation for rejection of the application.
- 4. No application will be entertained if sent by Post/Courier.
- 5. Tender should be submitted in sealed cover and superscripted with the Name of the Work tendered for, with N.I.T No. & Sl. No.
- 6. The rates are to be quoted both in words and figures as per schedule and perusing necessary Terms & Conditions attached herewith. The rate quoted is valid for acceptance up to 6(six) months from the date of opening of the Tender. The rates quoted should be

considered as inclusive of sales tax and other taxes and all other charges. No claim for any extra charge what so ever will be entertained.

- 7. The tenderer should sign all corrections in the tender with the date. The Tenderer must sign each page of the tender paper, notice, relevant drawings, schedules etc. which forms part and parcel of the tender document. The intending tenderer is required to sign in English or Bengali or Hindi. Signature of tenderer in all locations must be identical but the rates shall be quoted in English only.
- 8. a) Intending Tenderers will have to deposit Earnest Money as per Annexure in the form of Bank Draft/ Banker's Cheque of any Nationalized Bank or scheduled Bank of India on its Kolkata Branch drawn in favour of **New Town Kolkata Development Authority.**
 - b) Earnest Money will not be accepted by cheque / cash or in any form other than mentioned above.
 - Tenders unaccompanied by full earnest money in requisite form, will under no circumstances, be entertained and will summarily be rejected without further reference to the tenderers. No reference to previous deposit of earnest money and security for adjustment against the present tender nor any request for recovery from any outstanding bills for earnest money against the present tender will be entertained.
- 9. The entire two percent of the Earnest Money already deposited will be converted as initial Security Deposit. The Gross recovery of the balance security money will be made from each running bill @ 10% of the bill value less the amount already deposited with the tender as earnest money. The Security Deposit will be refunded after defect liability period of 06(six) months from the date of completion of the work.
- 10. Tenderer who will sign on the Tender on behalf of a company or firm must produce the registered documents in respect of their competency to do so, failing which the Tender will not be considered.
- 11. The Tenderers are bound by the terms and conditions of W.B.F No.2911 / (ii) along with the specification, notice for calling Tenders, Special Terms & Conditions, if any, and schedule of works etc. which forms part and parcel of the contract deeds.
- 12. Conditional tender will not be entertained and shall be deemed as 'informal'.
- 13. The Tender form issued from the Office of the undersigned, must be returned with all enclosures to this office on the date of receipt of Tender. If any Tenderer does not return the Tender paper and not state satisfactory reason of non submission of the Tender paper within 2 (two) days, the undersigned reserves the right to disqualify the contractor to participate in any Tender up to a period as may be decided by the undersigned.
- 14. Tender Documents are not transferable.
- 15. The Tender will be opened in presence of Tenderers or their authorized representatives who may be present at the time of opening if they so desire. The Tenderers or their authorized representatives may be permitted to put their signature on the Tender Register or on the opening sheet of the tender. If considered necessary, instant bid may be conducted immediately after opening of tenders in order to lower the rates obtained.
- 16. The acceptance of the Tender will rest with the accepting authority who does not bind himself to accept the lowest or any Tender and reserves the right to reject any or all the Tenders received or to split up the work in different sub-groups without assigning any reason thereof.
- 17. Before submission of any Tender, Tenderers may visit the sites and satisfy themselves about the local conditions and also other matters that may be raised in relation to the work.

- Any Tenderer who shall submit tender should be presumed to have done so as no claim whatsoever will be entertained on any account afterwards.
- 18. Income Tax and VAT will be deducted as per Govt. orders issued from time to time and would be applicable on the date of making payment of the bills.
- 19. Building and others construction workers' cess @ 1.0% will be deducted from the progressive bill(s) in pursuance with G.O No. 599A/4M-28/06 dated 27/09/2006.
- 20. The successful Tenderer (s) whose Tender is accepted shall make the formal agreement in W.B.F No. 2911/(i) / (ii) within 7 (seven) days from the date of issue of work order by the Assistant Engineer-VIII, NKDA, New Town Kolkata Development Authority on payment of usual charges which is non-refundable under any circumstances and submit the same duly signed by him / them to this office. If the Contractor fails to perform the formalities within the specified period, Tender will liable to be cancelled and the Earnest Money will be forfeited as per clause under memorandum of WBF 2911/ (i)/(ii)
- 21. The Contractor will remain liable for West Bengal Contract Labour (Regulation & Abolition) Rules in force and necessary certificates from appropriate authority are to be submitted within 7 (seven) days from the date of issue of the work order.
- 22. In case of sudden closure of office due to reasons beyond the control of the undersigned, the last date and time as indicated above will automatically be deferred to the next working day without further notice.
- 23. The Tender Inviting Authority reserves the right to deny or accept or reject any or all the applications and even to annul the tendering process at any point of time without prejudice to further action and without assigning reason thereof.
- 24. Agencies are required to give a work programme preferably in the form of a bar-chart and to approve it by the EIC before commencement of work and if progress of work abruptly differs from the given work program, the undersigned may terminate the work order at any point of time.
- 25. Unless otherwise stipulated, all the works are to be done as per general conditions and general specifications of the latest edition of 'PWD (W.B) schedule of Rates for Building, Plumbing sanitary & Road Works' for the working area, including up to date addenda and corrigenda if any.
- 26. If any tenderer withdraws his offer before acceptance or refuse to work within a reasonable time without giving any satisfactory explanation for such withdrawl, he shall be disqualified for submitting tender to this authority for a period as may be decided by the undersigned.
- 27. In case of any inadvertent typographical mistake in the specific price schedule of rates, the same will be treated to be so corrected as to confirm with the prevailing relevant schedule of rates and/or technically sanctioned estimate.
- 28. Letter or other instrument submitted separately in modification of the sealed tender will not be entertained.
- 29. Canvassing in any form is strictly prohibited and any tenderer found to have resorted to canvassing shall be liable to have his Tender rejected summarily.
- 30. Intending tenderer should note that he will have to work simultaneously with other contractors already entrusted with other work or with contractors to be entrusted with other work in future in the same site. The contractor will have to work in close co-operation and harmony with all the contractors engaged in the project. Any claim for idle labour for any reason whatsoever, will not be entertained under any circumstances.
- 31. Departmental materials will not be issued under any circumstances. Department, unless otherwise stated means **New Town Kolkata Development Authority.**

- 32. The provision of the Power of Attorney, if any, must be subject to the approval of the department. Otherwise the department shall not be bound to take cognizance of such Power of Attorney...
- 33. Contractor should give declaration of history of arbitration/litigation if any in his application.
- 34. NKDA will not be held responsible for making payment against any anticipated profit and/or compensation for any losses or price escalation whatsoever for the works as stated in the annexure of this NIT.
- 35. The contractor shall furnish the postal address of his office. Any notice or instruction to be given to the contractor under the terms of contract shall be deemed to have been served if it has been delivered to his authorized agent (on the strength of authorization) or representative or sent by registered letter to his official address as furnished.
- 36. In case of controversy over any clause/terms/conditions of the tender here of, the later will have the overriding effect over the former.

Assistant Engineer-VII
New Town Kolkata Development Authority

Dated: 25.06.2018

Memo No. 3009 /1(13)/ AE-VIII /EE-II/NKDA /2018-19

Copy forwarded for information and necessary action to:-

- 1. The Chief Executive Officer, New Town Kolkata Development Authority.
- 2. The Chief Engineer, New Town Kolkata Development Authority.
- 3. The Finance Officer, New Town Kolkata Development Authority.
- 4. The Administrative Officer, New Town Kolkata Development Authority.
- 5. The Executive Engineer -II, New Town Kolkata Development Authority.
- 6. The Executive Engineer -III, New Town Kolkata Development Authority.
- 7. The Executive Engineer-I , New Town Kolkata Development Authority.
- 7-10) the Estimator/Accountant I and II / Cashier, New Town Kolkata Development Authority.
- 12. Office Notice Board.
- 13. Official Website of New Town Kolkata Development Authority (www.nkdamar.org)

Assistant Engineer-VII
New Town Kolkata Development Authority

ANNEXURE OF N.I.T NO- 01/ AE-VII/EE-II /NKDA OF 2018-19

- A) Last date & time for receipt of application: 03.07.2018 up to 2.00 P.M
- B) Date for Publishing list for technically qualified tenderers: -03.07.2018, 3.00p.m.
- C) Last date & time for receiving of tender papers:- 05.07.2018 up to 3.00 P.M

SI No	Name of Work	Estimate amount put to the tender Rs.	Earnest money Rs.	Contractor eligibility to participate in the tender.	Cost of Tender form Rs.	Cost of other documents.	Total cost	Completio n time
1	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points of the Green Verge at DF-Block, street no. 354 & 334 in AA-1D,under NKDA, New Town, Kolkata.	121794.00	2436.00	1.Bonfires outside agencies having 40% credential in a single work of similar nature of last five years from the date of publish NIT. 2. Bonfires outside agencie having 30% credential in two work of similar nature of la five years from the date opublish NIT.		RS. 250 /-	RS.255/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90 days
2	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points of at Green Verge of BA Blocks in between street no. 101 & Link Canal in AA-1B under NKDA, New Town, Kolkata	113557.00	2271.00	3. Bonfires outside agencies having credential in a single running work of similar nature which has been completed to the extent of 80% or more and value of which is not less then the desire value.	RS. 5/-	Rs. 250/-	RS. 255/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days

ASSISTANT ENGINEER-VII
NEWTOWN KOLKATA DEVLOPMENT AUTHORITY

3	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of CD Blocks in between street no. 268 & 256 in AA-1C under NKDA, New Town, Kolkata	157716.00	3154.00	Do	RS. 5/-	Rs. 750/-	RS. 255/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days
4	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of DC-2 Block in between street no. 310 & 344 in AA-1D under NKDA, New Town, Kolkata	129004.00	2580.00	Do	RS. 5/-	Rs. 750/-	RS. 255/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days
5	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at at Green Verge of CC Block in between street no. 256 & 233 in AA-1C under NKDA, New Town, Kolkata	92794.00	1856.00	Do	RS. 5/-	Rs. 250/-	RS. 255/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days
6	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at at Green Verge of CA Block in between street no. 211 & 201 in AA-1C under NKDA, New Town, Kolkata	144742.00	2895.00	Do	RS. 5/-	Rs. 750/-	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days
7	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of BD 2 Blocks in between street no. 131 & 165 in AA-1B under NKDA, New Town, Kolkata	159409。 <i>OO</i>	3188.00	Do	RS. 5/-	Rs. 750/-	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days

ASSISTANT ENGINEER-VII NEWTOWN KOLKATA DEVLOPMENT AUTHORITY

8	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points Green Verge of BC 2 Blocks in between street no. 131 & 165 in AA-1B under NKDA, New Town, Kolkata	131224.00	2624.00	Do	RS. 5/-	Rs. 750/-	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	9Odays
9	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of CE Block in between street no. 183 & 185 in AA-1C under NKDA, New Town, Kolkat	105704.00	2114.00	Do	RS. 5/-	Rs. 250/-	RS. 255/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	9Odays
10	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points atat Green Verge of DE Blocks in between street no. 320 & 332 in AA-1D under NKDA, New Town, Kolkata	119869.00	2397.00	Do	RS. 5/-	Rs. 250/-	RS. 255/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days
11	Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points atat Green Verge of BD-1 Blocks at street no. 131 & Canal Bank Road in AA-1Bunder NKDA, New Town, Kolkata	139675.00	2793.00	Do	RS. 5/-	Rs. 750/-	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	90days
12	Yearly maintenance of Road Side Garden at the corner of Rupashree Complex and at the corner of Home Town in Action Area - 1A &1B under NKDA, New Town Kolkata.	499012.00	9980.00	Do	RS. 5/-	Rs. 750/-	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	365days

ASSISTANT ENGINEER-VII
NEWTOWN KOLKATA DEVLOPMENT AUTHORITY

13	Emergent jungle cutting , uprooting of bushes and dressing of sites adjacent to NBCC Housing Complex and abutting trees adjacent in different streets at Action Area -1C , New Town, Kolkata for mosquito eradication drive.	346632.00	6933.00	Do	RS. 5/-	Rs. 750/-	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org)	6 months
14	Cleaning and removing water hyacinth green vegetation and semi solid materials from the canal bed etc.C' Canal (from East Enclave North Words to WTP Pond and from North of Nazrul Tirtha Park to WTP Ponds) in Action Area-I under NKDA, New Town, Kolkata. (from 0.00 to 1km)	173336.00	3466.00	Do	RS. 5/-	Rs. 750	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org	6 months
15	Cleaning and removing water hyacinth green vegetation and semi solid materials from the canal bed etc.C' Canal (from East Enclave North Words to WTP Pond and from North of Nazrul Tirtha Park to WTP Ponds) in Action Area-I under NKDA, New Town, Kolkata. (from 1km to 2km)	139693.00	2793.00	Do	RS. 5/-	Rs. 750	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org	6months
16	Cleaning and removing water hyacinth green vegetation and semi solid materials from the canal bed etc.C' Canal (from East Enclave North Words to WTP Pond and from North of Nazrul Tirtha Park to WTP Ponds) in Action Area-I under NKDA, New Town, Kolkata. (from 2km to 3km)(Approx)	165286.00	3305.00	Do	RS. 5/-	Rs. 750	RS. 755/- (Intending tenderers can down load tender documents from departmental website www.nkdamar.org	6 months

Assistant Engineer-VII
New Town Kolkata Development Authority

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points of the Green Verge at DF-Block, street no. 354 & 334 in AA-1D,under NKDA, New Town, Kolkata.

_	DIKATA.				
SI	Description of Items	Quantity	Unit	Rate	Amount(Rs.)
1	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	8000.00	Sqm	11	88000.00
2	M.S.or W.I. Ornamental grill of approved design joints continuously				
	welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and				
	fixed with necessary screws and lugs in ground floor. (ii) Grill	1.45	Quint.	7046	10217
	weighing above 16 Kg./sq.mtr and above (Rupees				
	Seven Thousand Forty Six Only)				
3	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	9.70	Sqm	29	281
4	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	9.70	Sqm	79	766
5	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	10.00	Sqm	977	9770.00
6	M.S. works in brackets made from flats, angles, tees etc. to sizes specialy				
	bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only (Rupees Seven Thousand Three Hundred Thirty Five Only)	0.45	Quint.	7335	3301
7	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.85	Cum	3886	3303
8	Painting block letters or digits in Black Japan or any approved paint as per direction. d) Size above 5 cm. and upto 7.5 cm (Rupees Eleven Only)	450.00	Each	11	4950.00

Total= Rs. 120588.15

Labour welfare cess @ 1 % = Rs. 1205.88

Say Rs.121794.00

(Rupees One Lakh Twenty One Thousand Seven Hundred Ninety Four Only)

Assistant Engineer-VII
NKDA

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points of at Green Verge of BA Blocks in between street no. 101 & Link

Canal in AA-1B under NKDA, New Town, Kolkata

SI.	anai in AA-1B under NKDA, New Town, Kolkata				
N	Description of Items	Quantity	Unit	Rate	Amount(Rs
	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	7600.00	Sqm	11	83600.00
2	M.S.or W.I. Ornamental grill of approved design joints continuously				
	welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and				
179	fixed with necessary screws and lugs in ground floor. (ii) Grill	1.35	Quint.	7046	9512.10
	weighing above 16 Kg./sq.mtr and above (Rupees				
_	Seven Thousand Forty Six Only)				
3	(a) Priming one coat on steel or other metal surface with synthetic oil				
	bound primer of approved quality including smoothening surfaces by sand	8.00	Sqm	29	232.00
	papering etc. (Rupees Twenty	5.00	Sqiii	23	232.00
4	Nine Only)				
	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using				
	of approved putty etc. on the surface, if necessary : b) On steel or other		Neel		
18	metal surface:i) Two coats (with any shade except white)	8.00	Sam	79	C22.00
	With super gloss (hi-gloss) (Rupees	8.00	Sqm	79	632.00
	Seventy Nine Only)				
5	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of				
	M.S./ W.I. gate etc. with point welding at not more than 150mm apart				
	complete in all respect as per design including cost of all labour and	8.60	Sqm	977	8402.20
	materials (Rupees Nine		04	3,,	0402.20
	Hundred Seventy Seven Only.)				
6	M.S. works in brackets made from flats, angles, tees etc. to sizes specialy		7.5	12	
	bent, twisted, forged; making holes drilled and fitted to rafter of trusses		2.4		
	with necessary bolts, nuts, washer or screws etc.(length of straight not less	0.4	Quint.	7335	2934.00
	than 230 mm)(To be used for repair works only				
	Rupees Seven Thousand Three Hundred Thirty Five Only)				
	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm			+1	
	nominal size) excluding shuttering and reinforcement, if any, in ground	0.7		0000	
	floor as per relevant IS codes. Pakur Variety	0.7	Cum	3886	2720.20
	(Rupees Three Thousand Eight Hundred Eighty Six Only)				
8	Painting block letters or digits in Black Japan or any approved paint as per			# 12	
	direction. d) Size above 5 cm. and upto 7.5 cm	400.00	Each	11	4400.00
	(Rupees Eleven Only)				

RS. 112432.50

Labour welfare cess @ 1 % = Rs. 1124.325

Total Rs. 113556.83

Say Rs. 113557.00

(RupeesOne Lakh Thirteen Thousand Five Fifty Seven Only)

Assistant engineer-VII NKDA Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of CD Blocks in between street no. 268 & 256 in AA-1C under NKDA, New Town, Kolkata

SI	dinder NRDA, New Town, Kolkata		- 10		
	Description of item	Quantity	Unit	Rate	Amount(Rs.)
	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	11300.00	Sqm	11	124300.00
	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill weighing above 16 Kg./sq.mtr and above (Rupees Seven Thousand Forty Six Only)	1.7	Quint.	7046	11978.20
	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	10.00	Sqm	29	290.00
	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	10.00	Sqm	79	790.00
	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	9.50	Sqm	977	9281.50
	M.S. works in brackets made from flats, angles, tees etc. to sizes specialy bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only (Rupees Seven Thousand Three Hundred Thirty Five Only)	0.3	Quint.	7335	2200.50
	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.75	Cum	3886	2914.50
	Painting block letters or digits in Black Japan or any approved paint as per direction. d) Size above 5 cm. and upto 7.5 cm (Rupees Eleven Only)	400.00	Each	11	4400.00
			Tot	al= Rs.	156154.70

Labour welfare cess @ 1% = Rs. 1561.547

Total= Rs 157716.25 Say Rs.157716.00

(RupeesOne Lakh Fifty Seven Thousand Seven Hundred Sixteen Only)

Assistant Engineer-VII
NKDA

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of DC-2 Block in between street no. 310 & 344 in AA-1D under NKDA, New Town, Kolkata

SI · N	Description of Item	Quantity	Unit	Rate	Amount(Rs.
0					
1	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	8700.00	Sqm	11	95700.00
2	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill weighing above 16 Kg./sq.mtr and above (Rupees Seven Thousand Forty Six Only)	1.45	Quint.	7046	10216.70
3	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	9.70	Sqm	29	281.30
4	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	9.70	Sqm	79	766.30
5	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	10.00	Sqm	977	9770.00
	M.S. works in brackets made from flats, angles, tees etc. to sizes specialy bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only [Rupees Seven Thousand Three Hundred Thirty Five Only]	0.4	Quint.	7335	2934.00
7	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.8	Cum	3886	3108.80
8	Painting block letters or digits in Black Japan or any approved paint as per direction. d) Size above 5 cm. and upto 7.5 cm (Rupees Eleven Only)	450.00	Each	11	4950.00

Total= Rs. 127727.10

Labour welfare cess @ 1 % = Rs. 1277.271

Rs. 129004.37

Say Rs. 129004.00

(Rupees One Lakh Twenty Nine Thousand Four Only.)

Assistant Engineer-VII

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at at Green Verge of CC Block in between street no. 256 & 233 in AA-1C under NKDA, New

Town, Kolkata

To	own, Kolkata				
SI	Description of Item	Quantity	Unit	Rate	Amount(Rs.)
N					
0					
1	Clearing compound premises of shurbs, plants, jungles etc. by cutting and				
	removing as directed (Specific permission of Engineer-in-Charge prior to				
The second	execution will be necessary).	6000.00	Sqm	11	66000.00
	(Rupees Eleven Only.)				
2	M.S.or W.I. Ornamental grill of approved design joints continuously				
	welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and				
	fixed with necessary screws and lugs in ground floor. (ii) Grill	1.3	Quint.	7046	9159.80
	weighing above 16 Kg./sq.mtr and above (Rupees				
	Seven Thousand Forty Six Only)				
3	(a) Priming one coat on steel or other metal surface with synthetic oil				
	bound primer of approved quality including smoothening surfaces by sand	7.00	Cours	20	202.00
	papering etc. (Rupees Twenty	7.00	Sqm	29	203.00
	Nine Only)				
4	(A) Painting with best quality synthetic enamel paint of approved make and				
	brand including smoothening surface by sand papering etc. including using				
	of approved putty etc. on the surface, if necessary : b) On steel or other				
	metal surface:i) Two coats (with any shade except white)	7.00	Sqm	79	553.00
	With super gloss (hi-gloss) (Rupees				
	Seventy Nine Only)				
5	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of	7.4			
	M.S./ W.I. gate etc. with point welding at not more than 150mm apart				
	complete in all respect as per design including cost of all labour and	7.50	Sqm	977	7327.50
	materials (Rupees Nine				
	Hundred Seventy Seven Only.)				
6	M.S. works in brackets made from flats, angles, tees etc. to sizes specialy		4		
	bent, twisted, forged; making holes drilled and fitted to rafter of trusses				*
	with necessary bolts, nuts, washer or screws etc.(length of straight not less	0.35	Quint.	7335	2567.25
	than 230 mm)(To be used for repair works only				
7	Rupees Seven Thousand Three Hundred Thirty Five Only)				***
	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm				
	nominal size) excluding shuttering and reinforcement, if any, in ground	0.7	Cum	3886	2720.20
	floor as per relevant IS codes. Pakur Variety				
0	(Rupees Three Thousand Eight Hundred Eighty Six Only)				
Ŏ	Painting block letters or digits in Black Japan or any approved paint as per	200.00			
	direction. d) Size above 5 cm. and upto 7.5 cm	300.00	Each	11	3300.00
	(Rupees Eleven Only)			-	

Rs. 91830.75

Labour welfare cess @ 1 % = Rs. 918.3075

Total Rs. 92749.06

SayRs.92794.00

(Rupees Ninety Two Thousand Seven Hundred Ninety Four Only)

Assistant Engineer-VII

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at at Green Verge of CA Block in between street no. 211 & 201 in AA-1C under NKDA, New Town, Kolkata

	J. Kolkata				
SI	Description of Item	Quantity	Unit	Rate	Amount(Rs.)
	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	9500.00	Sqm	11	104500.00
	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill weighing above 16 Kg./sq.mtr and above (Rupees Seven Thousand Forty Six Only)	2.16	Quint.	7046	15219.36
	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	15.00	Sqm	29	435.00
	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	15.00	Sqm	79	1185.00
1	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	10.80	Sqm	977	10551.60
t	M.S. works in brackets made from flats, angles, tees etc. to sizes specially bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only (Rupees Seven Thousand Three Hundred Thirty Five Only)	0.33	Quint.	7335	2420.55
f (Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.9	Cum	3886	3497.40
C	Painting block letters or digits in Black Japan or any approved paint as per direction. d) Size above 5 cm. and upto 7.5 cm *Rupees Eleven Only*)	500.00	Each	11	5500.00

Rs. 143308.91

Labour welfare cess @ 1 % = Rs. 1433.0891

Total Rs. 144742.00

(RupeesOne Lakh Forty FourThousand Seven Hundred Forty Two Only)

Assistant Engineer-VI

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of BD 2 Blocks in between street no. 131 & 165 in AA-1B under NKDA, New

Town, Kolkata

SI Description of Item	Quantity	Unit	Rate	Amount(Rs.)
Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)		Sqm	11	121000.00
M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill weighing above 16 Kg./sq.mtr and above (Rupees Seven Thousand Forty Six Only)	1.8	Quint.	7046	12682.80
3 (a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	17.00	Sqm	29	493.00
4 (A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	5	Sqm	79	1343.00
5 Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	11.00	Sqm	977	10747.00
6 M.S. works in brackets made from flats, angles, tees etc. to sizes specially bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only *Rupees Seven Thousand Three Hundred Thirty Five Only)	5	Quint.	7335	2567.25
7 Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.9	Cum	3886	3497.40
8 Painting block letters or digits in Black Japan or any approved paint as pedirection. d) Size above 5 cm. and upto 7.5 cm (Rupees Eleven Only)		Each	11	5500.00

Rs. 157830.45

Labour welfare cess @ 1 % = Rs. 1578.3045

Total Rs. 159408.75

Say Rs 159409.00

(Rupees One Lakh Fifty Nine Thousand Four Hundred Nine Only)

Assistant Engineer-VII

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points Green Verge of BC 2 Blocks in between street no. 131 & 165 in AA-1B under NKDA, New Town, Kolkata

	olkata				
SI	Description of Item	Quantity	Unit	Rate	Amount(Rs.
	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	9150.00	Sqm	11	100650.00
	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill weighing above 16 Kg./sq.mtr and above (Rupees Seven Thousand Forty Six Only)	1.52	Quint.	7046	10709.92
	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	14.00	Sqm	29	406.00
	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	14.00	Sqm	79	1106.00
	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	8.50	Sqm	977	8304.50
	M.S. works in brackets made from flats, angles, tees etc. to sizes specially bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only (Rupees Seven Thousand Three Hundred Thirty Five Only)	0.35	Quint.	7335	2567.25
7	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.6	Cum	3886	2331.60
8	Painting block letters or digits in Black Japan or any approved paint as per direction. d) Size above 5 cm. and upto 7.5 cm (Rupees Eleven Only)	350.00	Each	11	3850.00

Rs. 129925.27

Labour welfare cess @ 1 % = Rs. 1299.2527

Total= Rs 131224.52

Say Rs. 131224.00

(Rupees One Lakh Thirty One Thousand Two Hundred Twenty Four only)

Assistant Engineer-VII

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of CE Block in between street no. 183 & 185 in AA-1C under NKDA, New Town,

Kc	plkata				
SI	Description of Item	Quantity	Unit	Rate	Amount(Rs.)
				*	
N			1.00		
0					
1	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	7300.00	Sqm	11	80300.00
2	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill weighing above 16 Kg./sq.mtr and above (Rupees Seven Thousand Forty Six Only)	1.3	Quint.	7046	9159.80
3	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	13.00	Sqm	29	377.00
4	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	13.00	Sqm	79	1027.00
	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	6.50	Sqm	977	6350.50
6	M.S. works in brackets made from flats, angles, tees etc. to sizes specialy bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only (Rupees Seven Thousand Three Hundred Thirty Five Only)	0.3	Quint.	7335	2200.50
7	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.5	Cum	3886	1943.00
8	Painting block letters or digits in Black Japan or any approved paint as per direction. d) Size above 5 cm. and upto 7.5 cm (Rupees Eleven Only)	300.00	Each	11	3300.00

Rs. 104657.80

Labour welfare cess @ 1 % = Rs. 1046.578

Total= Rs 105704.38

Say Rs. 105704.00

(Rupees One Lakh Five Thousand Seven Hundred Four only)

Assistant Engineer-VII

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points atat Green Verge of DE Blocks in between street no. 320 & 332 in AA-1D under NKDA, New Town, Kolkata

10	wn, Kolkata				
SI	Description of Item	Quantity	Unit	Rate	Amount(Rs.)
N					
0					
1	Clearing compound premises of shurbs, plants, jungles etc. by cutting and				
	removing as directed (Specific permission of Engineer-in-Charge prior to	0000.00	6		
	execution will be necessary).	8000.00	Sqm	11	88000.00
	(Rupees Eleven Only.)				
	M.S. or W.I. Ornamental grill of approved design joints continuously				
	welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill				
	11.	1.4	Quint.	7046	9864.40
	Seven Thousand Forty Six Only) (Rupees			4	
	(a) Priming one coat on steel or other metal surface with synthetic oil				
	bound primer of approved quality including smoothening surfaces by sand				
- 1	papering etc. (Rupees Twenty	9.00	Sqm	29	261.00
	Nine Only)				
4	(A) Painting with best quality synthetic enamel paint of approved make and		7.53		
	brand including smoothening surface by sand papering etc. including using				
15	of approved putty etc. on the surface, if necessary : b) On steel or other				
	metal surface :i) Two coats (with any shade except white)	9.00	Sqm	79	711.00
	With super gloss (hi-gloss) (Rupees Seventy Nine Only)				
	Seventy (vine Omy)		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	V	
	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of		4		
	M.S./ W.I. gate etc. with point welding at not more than 150mm apart				
	complete in all respect as per design including cost of all labour and	10.00	Sqm	977	9770.00
- 1	materials (Rupees Nine Hundred Seventy Seven Only.)				
	M.S. works in brackets made from flats, angles, tees etc. to sizes specially				
	bent, twisted, forged; making holes drilled and fitted to rafter of trusses			1	
	with necessary bolts, nuts, washer or screws etc.(length of straight not less	0.35	Quint.	7335	2567.25
- 1	than 230 mm)(To be used for repair works only	0.00	Quiit.	7555	2507.25
	Rupees Seven Thousand Three Hundred Thirty Five Only)				
	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm		1.		
	nominal size) excluding shuttering and reinforcement, if any, in ground	0.0	C	2006	2400.00
	floor as per relevant IS codes. Pakur Variety	8.0	Cum	3886	3108.80
	(Rupees Three Thousand Eight Hundred Eighty Six Only)				
8	Painting block letters or digits in Black Japan or any approved paint as per				
	direction. d) Size above 5 cm. and upto 7.5 cm	400.00	Each	11	4400.00
	(Rupees Eleven Only)				

Total= Rs. 118682.45

Labour welfare cess @ 1 % = Rs. 1186.8245

Total= Rs 119869.27

Say Rs. 119869.00

(RupeesOne Lakh Nineteen Thousand Eight Hundred Sixty Nine Only)

Assistant Engineer-VII
NKDA

Name of work: Cleaning and Removing shrubs, plants, jungles etc.and supplying fitting fixing the ornamental grill gate entrance points at Green Verge of BD-1 Blocks at street no. 131 & Canal Bank Road in AA-1Bunder NKDA, New Town, Kolkata

SI	Description of Item	Quantity	Unit	Rate	Amount(Rs.)
1	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Rupees Eleven Only.)	9500.00	Sqm	11	104500.00
	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed with necessary screws and lugs in ground floor. (ii) Grill weighing above 16 Kg./sq.mtr and above (Rupees Seven Thousand Forty Six Only)	1.45	Quint.	7046	10216.70
#	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (Rupees Twenty Nine Only)	10.00	Sqm	29	290.00
	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: b) On steel or other metal surface:i) Two coats (with any shade except white) With super gloss (hi-gloss) (Rupees Seventy Nine Only)	10.00	Sqm	79	790.00
	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I. gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials (Rupees Nine Hundred Seventy Seven Only.)	11.00	Sqm	977	10747.00
	M.S. works in brackets made from flats, angles, tees etc. to sizes specialy bent, twisted, forged; making holes drilled and fitted to rafter of trusses with necessary bolts, nuts, washer or screws etc.(length of straight not less than 230 mm)(To be used for repair works only (Rupees Seven Thousand Three Hundred Thirty Five Only)	0.45	Quint.	7335	3300.75
7	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur Variety (Rupees Three Thousand Eight Hundred Eighty Six Only)	0.9	Cum	3886	3497.40
8	Painting block letters or digits in Black Japan or any approved paint as per direction. d) Size above 5 cm. and upto 7.5 cm (Rupees Eleven Only)	450.00	Each	11	4950.00

Total= Rs. 138291.85

Labour welfare cess @ 1 % = Rs. 1382.9185

Total= Rs 139674.77

Say Rs. 139675.00

(RupeesOne Lakh Thirty Nine Thousand Six Hundred Seventy Five Only)

Assistant Engineer-VII

Name of Work: Yearly maintenance of Road Side Garden at the corner of Rupashree Complex and at the corner of Home Town in Action Area - IA & IB under NKDA, New Town, Kolkata

SI. No.	Item Description	Quantity	Units	Rate	Amount
1	Engagement of Semi Skilled / Unskilled Mali / Gardener for maintenance of Park including regular application of pesticides, insecticide, manure and dewatering, mowing of hedges, regular watering the lawn, hedges, trees replacement of dead patches, gap and earth filling (if required) rolling etc. all complete as per direction of E.I.C. Unskilled (Mali) (RUPEES EICHT THOUSAND FIVE HUNDRED TWO ONLY)	20	Per Head / Months	8,502.00	1,70,040.00
2	Engagement of Semi Skilled / Unskilled Mali / Gardener for Maintenance of Park including regular application of pesticides, insecticides, manure and dewatering, mowing of hedges, regular watering the lawn, hedges, trees replacement of dead patches, gap and earth filling (if required) rolling etc. all complete as per direction of E.I.C. Semi-skilled (Mali) (RUPEES NINE THOUSAND THREE HUNDRED FIFTY FOUR ONLY)	14	Per Head / Months	9,354.00	1,30,956.00
3	Hire Charges of grass mowing lawn mower (Honda or equivalent) including fuel and operator and other accessories as require for mowing of grass within the park (RUPEES SEVEN HUNDRED FORTY ONLY)	12	Times	740.00	8,880.00
4	Supply of pesticides, insecticides, manure as and when require of maintain the plants and trees within the park (RUPEES EIGHT THOSAND ONLY)	12	Times	8,000.00	96,000.00
5	Spreading of sludge, dump manure / farm yard manure / animal dung manure and good earth in required thickness. This includes supply of labour, tools & plants excluding material (RUPEES ONE HUNDRED SEVENTY SEVEN ONLY)	3500	%Sqm	177.00	6,195.00

6	Supply of different equipment require for			No.	
	gardening like, Trowel, fork, pruners, scissors,				
	spade etc. and flexible rubber hose pipe for				
	watering the plants and as and when required				
	and as directed by E.I.C. (Payment will be made	12	Times	1,000.00	12,000.00
	as per PWD Schedule or as per current market				
	rate after submission of original buying				
	voucher).				
P.	(RUPEES ONE THOUSAND ONLY)				
7	Preparation and maintenance of seasonal flower				
	bed including supply and plantation of new				
	flower plants, regular weeding, watering,				
	application of manure fertilizer, spraying of		na Best		
	different pesticides training and staking,				
	application of foliar nutrients, removal of dead				
	leaves and plant, replacement of dead plants				
	etc. all complete. Before planting the next crop				
	of seasonal flowers the beds are to be dug up to	3500	Sqm	20.00	70,000.00
	30 cm deep and roots, stems of previous crop				
	removed excavated earth is to be placed on the				
	side of the bed. Fresh manure is to be added and				
	the soil refill back after sunning for 3/4 days			3 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	
	(except during rains) and seasonal flower				
	particular section be planted in every season all				
	complete as per direction EIC.				
	(RUPEES TWENTY ONLY)				
				Rs.	4,94,071.00
	A	dd Labour	welfare Ce	ess @ 1 % Rs.	4,941.00
				Total Rs.	4,99,012.00

(Rupees Four Lakh Ninety nine Thousand Twelve Only)

Assistant Engineer-VII

<u>Name of the work:</u> Emergent jungle cutting uprooting of Bushes and Dressing of sites adjacent to NBCC Housing Complex and abutting trees adjacent in different streets at Action Area-IC, New Town, Kolkata, for mosquito eradication drive.

SL.NO	Description of Item	Qty	Unit	Rate	Amount
1.	Cleaning compound premises of shrubs, plants, jungle etc by cutting and removing as directed (specific permission of EIC prior to Execution will be necessary)	15600	Sqm	11.00	1,71,600.00
	Surface dressing of the ground in any kind of soil including removing vegetation inequalities, trimming trees road side not exceeding 15 rubbish within a lead upto 75 mas directed	15600	Sqm	11.00	1,71,600
		Total		3,43,200.00	
		Add 1% cess			3,432.00
		Total			3,46,632.00

Assistant Engineer -VII
NKDA

Name of Work:Cleaning and removing water hyacinth green vegetation and semi solid materials from the canal bed etc.C' Canal (from East Enclave North Words to WTP Pond and from North of Nazrul Tirtha Park to WTP

Ponds) in Action Area-I under NKDA, New Town, Kolkata. (from 0.00 to 1km)

ed etc	C' Canal (from East Eliciave Nova Town Kolkata, (fro	m 0.00 to 1	km)				
onds)	in Action Area-I under NKDA, New Town, Kolkata. (fro	Quantity	Unit	Rat	e	Amo	unt(Rs.)
l No.	Description of Items Cutting uprooting and clearing jungles including shrubs, water weeds, bushes, trees, plants, upto 30 cm. girth including removing as directed by Engineer-						
	in-charge.	5000.00	Sqm		5.00		25000.00
	(Rupees five only) Clearing and removal of debris (including floating debris) including sludge& slush mixed with all sorts of industrial waste, solid/semi-solid compacmass formed due to water hyacinth in combination with industrial wastes carcasses, municipal garbage and long grass etc. and depositing, spreading the same on the canalsludge, polypacks, thick and thorny jungles bank and later burnt to ashes when dry including all leads and lift complete. (Rupees thirty only) Removal of rubbish.earth etc. from the working sit and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the sign all respect as per direction of Engineer in charge (Rupees one sixty six)	4500.0 te in Cor				.00	135000.00
		70	.00	Jum	Total Rs.	0.00	171620
	3				10tai N3.	D-	171

Cess@1% Rs.

1716.2

Total Rs. Say Rs. 173336.20 173336.00

(Rupees One Lakh Seventy three Thousand three Hundred thirty six Only)

Assistant Engineer-VII NKDA

Name of WorK:Cleaning and removing water hyacinth green vegetation and semi solid materials from the canal bed etc.C' Canal (from East Enclave North Words to WTP Pond and from North of Nazrul Tirtha Park to WTP

Ponds) in Action Area-I under NKDA, New Town, Kolkata. (from 1km to 2km)

Ponds)	in Action Area-I under NKDA, New Town, Kolkata. (fro	m 1km to 2	km)	I	Amount(Dc)
SI No.	Description of Items	Quantity	Unit	Rate	Amount(Rs.)
	Cutting uprooting and clearing jungles including				
	shrubs, water weeds, bushes, trees, plants, upto 30				
	cm. girth including removing as directed by Engineer-				
	in-charge.	0500.00	C	5.00	42500.00
1	(Rupees five only)	8500.00	Sqm	5.00	42300.00
	Clearing and removal of debris (including floating				
	debris) including sludge& slush mixed with all sorts of				
	industrial waste, solid/semi-solid compacmass				
	formed due to water hyacinth in combination with				
	industrial wastes carcasses, municipal garbage and				
	long grass etc. and depositing, spreading the same on				
	the canalsludge, polypacks, thick and thorny jungles				
	bank and later burnt to ashes when dry including all				
	leads and lift complete.				
	(Rupees thirty only)	3000.0	0 Sqn	30.0	90000.00
	Removal of rubbish earth etc. from the working site				
	and disposal of the same beyond the compound, in				
	conformity with the Municipal / Corporation Rules to	r			
	such disposal, loading into truck and cleaning the site	9			
	in all respect as per direction of Engineer in charge				
	(Rupees one sixty six)			455	5810.00
	3	35.0	00 Cui		138310.00
				Total Rs.	130310.0

Cess@1% Rs.

1383.10

Total Rs.

139693.10

(Rupees One Lakh thirty nine Thousand six Hundred ninty three Only)

Assistant Engineer-VII

st-16

PRICE SCHEDULE

Name of Work:Cleaning and removing water hyacinth green vegetation and semi solid materials from the canal bed etc.C' Canal (from East Enclave North Words to WTP Pond and from North of Nazrul Tirtha Park to WTP Ponds) in Action Area-I under NKDA, New Town, Kolkata. (from 2km to 3km)(Approx)

SI No.	Description of Items	Quantity	Unit	Rate	Amount(Rs.)
	Cutting uprooting and clearing jungles including				
	shrubs, water weeds, bushes, trees, plants, upto 30				
	cm. girth including removing as directed by Engineer-				
	in-charge.				
1	Rupees five only)	7900.00	Sqm	5.00	39500.00
	Clearing and removal of debris (including floating				
	debris) including sludge& slush mixed with all sorts of				
	industrial waste, solid/semi-solid compacmass				
	formed due to water hyacinth in combination with				
	industrial wastes carcasses, municipal garbage and				
	long grass etc. and depositing, spreading the same on				
	the canalsludge, polypacks, thick and thorny jungles				
	bank and later burnt to ashes when dry including all				
	leads and lift complete.				
	(Rupees thirty only)			HART TO THE	
2		4000.00	Sqm	30.00	120000.00
	Removal of rubbish.earth etc. from the working site				
	and disposal of the same beyond the compound, in				
	conformity with the Municipal / Corporation Rules for				
	such disposal, loading into truck and cleaning the site				
	in all respect as per direction of Engineer in charge				
	(Rupees one sixty six)				
3		25.00	Cum	166.00	4150.00

Total Rs.

163650.00

Cess@1% Rs.

1636.5

Total

165286.50

Say Total

165286.00

(Rupees One Lakh sixty five Thousand two Hundred eighty six Only)

Assistant Engineer-VII